
 

 

Answer on Question #49803-Physics-Mechanics-Kinematics-Dynamics 

A mass of 𝑚 = 2.10 𝑘𝑔 is attached to an oscillating spring, and the period of oscillation is 𝑇 = 1.50𝑠. Find 

the spring constant, and if the total energy is 𝐸 = 4.55𝐽 find the amplitude of the oscillations. 

Solution 

The period of oscillation is 

𝑇 = 2𝜋√
𝑚

𝑘
, 

where 𝑘 is the spring constant. 

So, the spring constant is 

𝑘 = 𝑚 (
𝑇

2𝜋
)

−2

= 2.10 (
1.50

2𝜋
)

−2

= 36.8
𝑁

𝑚
. 

The total energy is 

𝐸 =
𝑘𝐴2

2
, 

where 𝐴 is the amplitude of the oscillations. 

Thus, 

𝐴 = √
2𝐸

𝑘
= √

2 ∙ 4.55

36.8
= 0.5 𝑚. 
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